

U, -- un as an orthonormal basis of a vector space ~= CyU,+ ... + carn where (no row reduction) (; = <~, u;) (looks like L2) $||v|| = \int c_1^2 + c_2^2 + \cdots + c_n^2$. despite that <-,-> Might not be the L2 inner product!

$$J = P^{(2)} = \text{degree } 2 \text{ or less polynomials is } 2 \text{ variable.}$$

$$= \left\{ 0 + bx + cx^{2} \right\}$$

$$= \text{Span} (1, x, x^{2}) \subseteq C^{\circ}[0,1] \text{ as furtions}!$$

$$= span (1, x, x) = C (1, x, x)$$

$$< f.g) = \int_{0}^{1} f(x)g(x) dx$$

$$Claim P_{2} = 2x-1 P_{3} = 6x^{2} - 6x + 1$$

P3 = 6x2 - 6x + 1 Claim P = 1 P2 = 2x-1 15 an ormogonal basis of P(2) W/r/t L2-100m product! (2x-1)dx = 0

$$\langle P_{1}, P_{3} \rangle = \int_{0}^{1} 1(6x^{2}-6x+1) dx = 0$$

$$\langle P_{2}, P_{3} \rangle = \int_{0}^{1} (2x-1)(6x^{2}-6x+1) dx = 0$$

$$||A|^{2} ||B|^{2} ||B||^{2} ||B||$$

automatically torm a diffusion to
$$X_1 = \frac{P_1}{\|P_1\|} = \frac{1}{\int_0^1 L^2 A_0} = 1$$

$$X_2 = \frac{2x-1}{\|P_2\|} = \frac{1}{\int_0^1 L^2 A_0} = \frac{1}{\int_0^1 (2x-1)} = \frac{1}{$$

$$U_{2} = \frac{\beta_{2}}{\|\beta_{L}\|} = \frac{2x-1}{\int_{0}^{1} (2x-1)^{2} dx} = \frac{1}{\int_{3}^{1} (2x-1)} = \frac{1}{3} (2x-1)$$

$$U_{2} = \frac{P_{2}}{|P_{2}|} = \frac{2x - 1}{\int_{0}^{1} (2x - 1)^{2} dx} = \frac{1}{\int_{3}^{2} (2x - 1)} = \frac{1}{\sqrt{3}} (2x - 1)$$

$$U_{3} = \frac{P_{3}}{|P_{3}|} = \frac{6x^{2} - 6x + 1}{\int_{3}^{2} (2x - 1)^{2} dx} = \sqrt{3} (6x^{2} - 6x + 1)$$

$$U_{2} = \frac{\beta_{2}}{|192|} = \frac{3(2x-1)}{\int_{0}^{1} (2x-1)^{2} dx} = \int_{\frac{1}{3}}^{\frac{1}{3}} (2x-1) = J_{3}(2x-1)$$

$$U_{3} = \frac{P_{3}}{|193|} = \frac{6x^{2}-6x+1}{\int_{0}^{1} (6x^{2}-6x+1) dx} = \sqrt{5}(6x^{2}-6x+1)$$

1 16' (6x2-6x+1) dx

$$V = \frac{1}{3} + x + x^{2}$$
 as a linear combination of $U_{1}U_{2}U_{3}$.

$$U_{1} = \frac{1}{3} + x + x^{2}$$
 as a linear combination of $U_{1}U_{2}U_{3}$.

$$U_{2} = \frac{1}{3} + x + x^{2} +$$

 $1+x+x^2 = \frac{1}{6}(x) + \frac{3}{3}(13(3x-1)) + \frac{3}{5}(15(6x^2-6x+1))$

 $C_3 = \int_0^1 (1+x+x^2)(\sqrt{2}(6x^2-6x+1))dx = \frac{36}{\sqrt{2}}$

در سر + در سر + در سر

Idea of Gram - Schmidt Process
Input: W,Wn basis & V.s 1-,->
Dutput: VI un orthogenel basis
Recursive algorithm - solve for V,
- Solutor vz in terms of vi
- solve for v3 in terms of v1, v2
• •
- solve for Un in toms V1, , , Un-1.

Formula! Thm Gram- Suhmidt Given a basis Wi...wh & an ine (In terms of v,)

 $\langle \omega_3, \vee, \rangle$ $\vee_1 - \frac{\langle \omega_3, \vee_2 \rangle}{\langle \omega_3, \vee_2 \rangle}$ 115/15 15/2015 (2 James) 13 = W3 -112/113

- vi . (m terms) v., --, vn-1)

Nn= Wn - > (Wn, vi)

11 Vill~

is an orthogonal basis)

Pf Outline

let V, = W,.

(hoping for the best) Suppose Ja = Uz - CV1.

(v, , v, > = 0

=> < 41, W2 - CV1) = 0

=> (V, , W2) - C (U, V,) = D => <n',m', - c // ~'11,5 = D

c = (V1, W2)

maybe use car find a C that makes V, IV2.

Therefore let $V_{z} = \omega_{z} - \frac{\langle u_{z}, v_{i} \rangle}{|w_{i}|^{2}} V_{j}$

and U, I Vz

 $\langle \omega_3, v, \rangle$ 112,02 (M3, M) くしょりょう (U2,U2) = 0 112/12/2 112112 V1 V2 V3 one muncely Ocholory by construction! ION etc ...

13 = W3 - C1V1 - C2V2

Hope

$$V_{1} = W_{2} - \frac{\langle W_{2}, V_{1} \rangle}{||V_{1}||^{2}} V_{1}$$

$$V_{3} = W_{3} - \frac{\langle W_{3}, V_{1} \rangle}{||V_{1}||^{2}} V_{1} - \frac{\langle W_{3}, V_{2} \rangle}{||V_{2}||^{2}} V_{2}$$

$$\vdots$$

$$V_{N} = W_{N} - \sum_{i=1}^{N-1} \frac{\langle W_{N,i}, V_{i} \rangle}{||V_{i}||^{2}} V_{i}$$

$$\bigcup_{i=1}^{N-1} \frac{\langle W_{N,i}, V_{i} \rangle}{||V_{i}||^{2}} V_{i}$$

$$\bigcup_{i=1}^{N-1} \frac{\langle W_{N,i}, V_{i} \rangle}{||V_{i}||^{2}} V_{2}$$

$$\bigcup_{i=1}^{N-1} \frac{\langle W_{N,i}, V_{i} \rangle}{||V_{N,i}||^{2}} V_{2}$$

$$\bigcup_{i=1}^{N-1} \frac{\langle W_{N,i}, V_{i} \rangle}{||V_{N,i}||$$

$$V_{2} = \begin{pmatrix} 0 \\ 0 \\ 2 \end{pmatrix} - \frac{\begin{pmatrix} 0 \\ 2 \\ 0 \\ 0 \end{pmatrix} + \frac{1}{3} \begin{pmatrix} 0 \\ 1 \\ 0 \\ 0 \end{pmatrix} = \frac{1}{3} \begin{pmatrix} 0 \\ 0 \\ 0 \\ 0 \end{pmatrix} + \frac{1}{3} \begin{pmatrix} 0 \\ 0 \\ 0 \\ 0 \end{pmatrix} = \frac{1}{3} \begin{pmatrix} 0 \\ 0 \\ 0 \\ 0 \end{pmatrix} + \frac{1}{3} \begin{pmatrix} 0 \\ 0 \\ 0 \\ 0 \end{pmatrix} = \frac{1}{3} \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix} = \frac{1}{3} \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix} = \frac{1}{3} \begin{pmatrix} 0 \\ 0 \\$$

 $= \left(\frac{3}{5}\right) - \frac{\left(\frac{3}{5}\right) \cdot \left(\frac{1}{1}\right) - \frac{1}{5}\left(\frac{1}{5}\right) - \frac{1}{5}\left(\frac{1}{5}\right) - \frac{1}{5}\left(\frac{1}{5}\right) - \frac{1}{5}\left(\frac{1}{5}\right) = \frac{1}{5}\left(\frac{1}{5}\right) = \frac{1}{5}\left(\frac{1}{5}\right)$

 $= \left(\frac{2}{3}\right) - \frac{-3}{3}\left(\frac{1}{1}\right) - \frac{21}{3}\left(\frac{3}{5}\right) = \left(\frac{2}{3}\right) + \left(\frac{1}{5}\right) - \frac{1}{2}\left(\frac{4}{5}\right)$

$$= \begin{pmatrix} \frac{3}{7} \\ -\frac{1}{7} \\ -\frac{1}{7} \end{pmatrix} - \frac{1}{2} \begin{pmatrix} \frac{4}{7} \\ \frac{1}{7} \\ -\frac{1}{7} \\ \frac{1}{7} \end{pmatrix} = \begin{pmatrix} \frac{3}{7} - \frac{2}{7} \\ -\frac{1}{7} \\ -\frac{1}{$$

Note: After Stp2 It'll still were' (1,1,-1)

Suppose
$$P^{(2)} = V$$
 $(x, y) = \int_{0}^{1} f(x)g(x) dx$
Start $f(x) = \int_{0}^{1} f(x)g(x) dx$

$$\int_{0}^{1} f(x) dx = \int_{0}^{1} f(x) dx = \int_{0}^{1} f(x)g(x) dx$$

$$\int_{0}^{1} f(x) dx = \int_{0}^{1} f(x) dx = \int_{0}^{1} f(x)g(x) dx$$

$$\int_{0}^{1} f(x) dx = \int_{0}^{1} f(x) dx$$

$$\int_{0}^{1} f(x)$$

L=ARTA.

G-S: The input W. Wz... Wn needs to he a basis!

Un= C,W,+ --- + CnWn